m ‘ I Multiplica decimales por potencias negativas de diez

Nombre: Fecha: Puntuacion:
1479,5 % 0.01 = 8028,7 x 0.01 =
1200,6 x 0.01 = 8967,4 % 0.01 =
4092, 1 x0.1 = 3640,2 x 0.001 =
8730,5 % 0.001 = 9662,9 x 0.01 =
8208, 3 x 0.0001 = 7300, 7 x 0.0001 =
9627, 6 x 0.0001 = 5867,5%x0.1 =
6466,2 x 0.001 = 5759,8 x0.1 =
4977,5x0.1 = 4971,9 x 0.01 =
8255, 1 x0.0001 = 8379,7 x0.01 =
5528 x 0.01 = 7692,9 x 0.01 =
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n . I Multiplica decimales por potencias negativas de diez

Nombre: Fecha: Puntuacion:
1479,5 x 0.01 = 14.795 8028,7 x 0.01 = 80.287
1200, 6 x 0.01 = 12.006 8967,4 x 0.01 = 89.674
4092, 1 x 0.1 =409.21 3640,2 x 0.001 = 3.6402
8730,5 % 0.001 = 8.7305 9662,9 x 0.01 = 96.629
8208, 3 x 0.0001 = 0.82083 7300, 7 < 0.0001 = 0.73007
9627, 6 x 0.0001 = 0.96276 5867,5 % 0.1 = 586.75
6466,2 x 0.001 = 6.4662 5759,8 x 0.1 = 575.98
4977,5 x 0.1 =497.75 4971,9 x0.01 =49.719
8255,1x0.0001 = 0.82551 8379,7 x0.01 = 83.797
5528 x 0.01 = 55.28 7692,9 x 0.01 = 76.929
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